RREEER YT —VEE BRERANRE (BEER IR ER)

SH5E11H1BHRAE

AR IER (km)
BEBERX 5 EERFER BRIR A BHRYAER
BRI £ APt | axE~2 | 2%A sl

FIX | EEE (H ) A AR = 3R B B #aE 28.1 2.0 26.1 0.0
A (A &) A AR 5 BE B B EE (R 30.4 3.7 26.7 0.0
e HE (B &) FACRENT B Bh HEE AR 82.7 25.0 57.7 0.0
i hE (B &) HAbH g B B HaE 61.8 5.1 55.7 1.0
e HhE (3 &) FE R B B HE (R 82.7 7.6 75.1 0.0
N 3 AR 285.8 43.5 241.3 1.0
s HR (B &) [l HIE R (475) 18.4 0.9 17.5 0.0
Mg S (B8 ik e R s E % (113 5) 6.0 0.0 6.0 0.0
N 2 HEHR 24.4 0.9 23.5 0.0

=& (F7) 75 83.7 23.7 60.0 0.0
ESPEREi=)) 135 160.5 52.3 108.3 0.0
=& (F7) AT 73.8 2.0 71.8 0.0
=& (F7) 4875 19.3 0.0 19.3 0.0
ESPEREi=)) 1125 101.7 8.3 93.4 0.0
=& (F7) 113% 45.7 0.0 45.7 0.0
NF 6 484.6 86.2 398.4 0.0

=& (4%) 113% 0.2 0.0 0.2 0.0
ESPERCYS) 1215 28.9 0.0 28.9 0.0
=& (4%) 28675 3.0 3.0 0.0 0.0
=& (44) 2877 1.0 0.0 1.0 0.0
ESPEERCYS) 3475 0.5 0.0 0.5 0.0
=& (44) 3487 1.9 1.9 0.0 0.0
ESPERCYS) 45875 0.8 0.0 0.8 0.0
N1 7 AR 36.3 4.9 31.4 0.0

T 7 5E KR R R 1.7 0.0 1.7 0.0
T EEH 5 E =L 0.9 0.0 0.9 0.0
T 7 5E LI B 2.4 2.4 0.0 0.0
T T 5E LT AR 0.6 0.6 0.0 0.0
T T E L5 B 3.4 1.7 1.7 0.0
U BB ] IIpAIES ) 0.4 0.0 0.4 0.0
T E 12PN 0.7 0.0 0.7 0.0
T 7 5E (LT R E AR 3.1 3.1 0.0 0.0
FEH I E K RITAR 2.4 1.4 1.0 0.0
T 7 5E FETTAT LR 3.2 0.0 3.2 0.0
U BB ] AR H R 0.4 0.0 0.4 0.0
FHHTIE JE PN ZEPEST) 1R 5.0 0.0 5.0 0.0
T 7 5E ENESYRNN S 2.6 0.0 2.6 0.0
TEH 5 E BT E A7 LR 2.4 0.0 2.4 0.0
T 7 5E TP A LR 1.9 1.6 0.3 0.0
7 E 15 452 B 0.3 0.0 0.3 0.0
T 5 E 17 FH PR 1.2 0.3 0.9 0.0
FEEH 5 E 4 BNt 0.1 0.0 0.1 0.0
T E EJERITR 2 2.4 0.0 2.4 0.0
T 7 5E e ] o) AR 4.7 0.0 4.7 0.0
TEH 5 E FB 5 B 0.1 0.0 0.1 0.0
T T E (INp;ANRRR S 2.7 1.3 1.4 0.0
FEH 5 E (LR b Lk 1.7 1.7 0.0 0.0
T T E B S AR 0.7 0.0 0.7 0.0
T 7 5E TP\ % 2.1 0.0 2.1 0.0
/N EE 25 iR 47.1 14.1 33.0 0.0

— i R b L B K B 1.0 1.0 0.0 0.0
— i IaE Ky HNFERAR 3.6 3.6 0.0 0.0
— % IRl + B BT LR 0.7 0.7 0.0 0.0
— R TR LTS R 0.9 0.9 0.0 0.0
— i VE KAk H7 1.0 0.0 1.0 0.0
— R KR 15 S 1.1 0.0 1.1 0.0
— i IRE KRB AR 1.1 0.0 1.1 0.0
— b LI 22 P 1.8 0.0 1.8 0.0
— i IE KA H A R 0.7 0.0 0.7 0.0
— % IRaE HARER B 1.5 0.0 1.5 0.0
R FF LKA HAR 0.9 0.0 0.9 0.0
— % IRE il )1 387 1= A 2.5 0.0 2.5 0.0
R SR BT FE R 0.2 0.0 0.2 0.0
— i aE IRIEEE )R 0.2 0.0 0.2 0.0
— % JRaE HEE o] S B AR 3.9 0.0 3.9 0.0
— i IaE HIHEBRBEMR 1.0 0.0 1.0 0.0
— % IRaE ) AR B ) R 1.9 0.0 1.9 0.0
R EEIART_EAR 1.3 0.0 1.3 0.0
NF 18 H#r 25.3 6.2 19.1 0.0
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RREEER YT —VEE BRERANRE (BEER IR ER)

SH5E11H1BRAE

HRARE R ER (km)
BEEX 2 B ERFER iz e HGHAIER
BBEE | auk | axm~2 | o%A il
B LI E I5 AR 0.7 0.0 0.7 0.0
(L e TR PE R 0.5 0.0 0.5 0.0
(L TiiE T&A B 1.3 0.0 1.3 0.0
(L TiiE Sl \ H WTHR 0.4 0.0 0.4 0.0
(L TiiE =S RES 0.2 0.2 0.0 0.0
(L TiiE £ H BT R 0.1 0.0 0.1 0.0
(L TiE SEHEA SR 0.1 0.0 0.1 0.0
(L TiiE TR EE PR 0.1 0.0 0.1 0.0
(L e B R IRE 13757 0.2 0.0 0.2 0.0
(L TiiE R Ry 1654 0.1 0.0 0.1 0.0
N1 10 B 3.7 0.2 3.5 0.0
KEEE EH AR RS SR 0.8 0.0 0.8 0.0
A F 1 B 0.8 0.0 0.8 0.0
g 78 FH A R 0.1 0.0 0.1 0.0
B TE LA i AT 0.5 0.0 0.5 0.0
g YRR HiHR 0.2 0.0 0.2 0.0
N F 3 AR 0.8 0.0 0.8 0.0
KR TIE ST HEBA T B 1.1 0.0 1.1 0.0
KR R SINATANT 0.5 0.0 0.5 0.0
KR TIE KRN 0.2 0.0 0.2 0.0
AN 3 HEAR 1.8 0.0 1.8 0.0
Y= LIBL P s i 1 > A — iR 2.9 0.0 2.9 0.0
i & 1 BE#R 2.9 0.0 2.9 0.0
fess ] v FRET2 B 0.1 0.0 0.1 0.0
Bl TE INE 0.4 0.0 0.4 0.0
N 2 HEAR 0.5 0.0 0.5 0.0
1 H E R T R 0.5 0.0 0.5 0.0
WHHETE KEHT25H7 0.1 0.0 0.1 0.0
1 H TE ST 0.1 0.0 0.1 0.0
N 3 HEAR 0.7 0.0 0.7 0.0
=JIETIE il AR 3 0.1 0.0 0.1 0.0
N 1 B 0.1 0.0 0.1 0.0
Ny 24 FEHR 11.3 0.2 11.1 0.0
Z O fE BRUSIERE E R 0.5 0.0 0.5 0.0
Z DA IE BRPSIE R 1P R SR 0.1 0.0 0.1 0.0
Z D fhE BEHSIEEE ARSmTRR 0.1 0.0 0.1 0.0
Ny 3 HEAR 0.7 0.0 0.7 0.0
915.5 156.0 758.5 1.0
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